A2 SA 1.2x < 0.7x+ 0.5 & ZH?

D=t @ x>1 @ 1<x
@ 1<x ® 8= gich



600 ¥ 2] A 2 450 A A2 B S-S sto] 9 7S AR, 1
%ol 4500 ¢ ©]4 5000 ¢ mIRte] HA| st AL S}, BEZOE 20
ol SHH A 2ha2 Hol 2 A A 2 Q=

=2 T 1»7\1_7]-()

@ 5 7 @ 6 7l @ 77 @ 8 7 ® 974



o 7

i
i

[o141 1821 800 € ol & 4= = FHAE L= 1000 ¢ 2

of thgukEc] 7b4 AFA 18] 600 9 ol & % QIeka g
B 2] ol AH 9o th@utES] 71 Aol fel3tx]



@ +4b° ©] e Fstolar,

B
:



Al GATAA 2x+3y =1, 2x+ay =7, 3x+ 4y =2 7L A= 22
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2x-3y=1
dx—ay=">b
D a=6,b+2 @ a=6,b=2

@ a=-6,b+2 ®a=3,b=1

® a=3b+2
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